APPLICATION Of TRIGONOMETRY

One can't just sit and fear Mathematics. One has to have some courage.
In fact courage is not the acknowledgement of our fears.
Rather it is the acknowledgement of something which is more important than our fears!

By O.P. GUPT A Math Mentor
INDIRA AWARD WINNER

For detailed solutions, check YouTube Channel.

u YouTube.com/MathematiciaByOPGupta

v« Multiple Choice Questions, with only one correct option.

QO1.

QO2.

QO3.

Q04.

In given Fig.1, if BD =1 unit and DA = x, then x equals:
L

30 36

Fig.1 B D A

(a) 1 unit (b) 2 units (c) 3 units (d) None of these

The angle of elevation of the top of a tower from the points at a distance of 4 m and 9 m from the
base of the land in the same straight line with it, are complementary. The height of the tower is:

(a)4m (b) 7m (c)12m (d)6m

The angle of elevation of the top of a tower from two points at distances ‘a’ and ‘b’ from the base
and on the same straight line with it are complimentary. The height of the tower is:

(a) ab (b) ~ab (c) (ab)? d) %

In the Fig.2, tanm :%. If AB =12 cm, then BC is:
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QO5.

Q06.

QO7.

QO8.

Q09.

C
m
A
Fig.2 B
(a) 8cm (b) 12 cm (c) 10 cm (d)9 cm

A tower stands vertically on the ground, form a point on the ground, which is 15 m away from the
foot of the tower, the angle of elevation of the top of the tower is found to be 60°. The height of
tower is:

(a) 3m (b) 1543 m (¢) 15m (d) 3415 m

An observer 1.5m tall is 28.5m away from chimney. The angle of elevation of the chimney from
her eyes is 45°. The height of the chimney is:

(a) 30 m (b) 27 m (c)I5m (d) None of these
The shadow of a tree 6 m in its height is 243 m. The angle of elevation of the sun is:
(a) 60° (b) 30° (c) 85° (d) 45°

A tower on the ground is in the vertical position. At a point on the ground 16 m away from the
foot of the tower the angle of elevation of the tower is 60°. The height of the tower is:

(a) 633 m (b) 1643 m (c) 16 m (d) None of these
In the following figure [Fig.3], the perimeter of rectangle ABCD is:
D C
10 m
30
Fig.3 A B
(a) 40 m B 10(3+)m  (¢) 203+)m  (d) 60 m
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Q10.

Ql1.

Two poles P, and P, stand 30m apart on the ground [See fig.4]. M is a point on pole P, such that
the two ends of pole P; subtend a right angle at the point M and the angle of elevation of the top

of pole P; from the point M is 60° . The height of pole P;, in metres is:
(a) 203 (b) 40+/3 (c) 603 (d) 1203
P,

[
'!“1.‘

M

30m

Fig.4

A boy on the top of a tower (having height ‘h’) is looking at a point P on the ground, making an
angle of depression of 45°. This point P is at 15 m away from the foot of tower. Then ‘h’ equals:

(a) 15 units (b) 15 m (c) I.5m (d) None of these

MATHEMATICIA By O.P. GUPTA : MCQ in Mathematics (Class 10)



MATHEMATICIA for Class 10 By O.P. GUPTA (INDIRA Award Winner)

| ANSWERS KEY |

QO0l.¢ Q02.d Q03. b Q04. d Q05. b Q06. a Q07. a
Q08. b Q09. ¢ Q10. ¢ QI1.b
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